ESRI

16 12 13 14 00 16 15
2 4 404
1974 2006
30
NRR 1.00 TFR
2.1 2.05 2.08
TFR 15 49
15 49
TFR 15 49
2
1947 1949 3 250 7
TFR 1947 11 TFR=4.5-TFR=2.0
1960 1970 TFR=2.0 2.1
TFR 1975 2.05
TFR=2.0-TFR=1.5
2000 20 30

1975 35



(1)
2
TFR
1970
TFR
1975
1975
1965

1950

1965 1.5
TFR=S(
(2)
1950 75
1975
20.9 2000 54.0
14.3 2000 42.9
1970
M
1994 2000
2000
(1)1970

)x ( )
9
25 29
30 34
1990
1970
5
25 29
2000
100 94
3
@



20
(4)
2002 1.71
1982 2002
1.71
2002 5 9
1.71 0.8
1982 2002
1980

30

TFR

1960

2000

2002
(2.07 )
2.48
50
1981 1996
70
1.8
2000
1970
15

®3)

9

0.4

1.2 1.3

1982

2000

1.95



TFR

1.39

34

16

18

0.6



